The Evaluation of E-Government Implementation DPMPTSP Denpasar Using the Level Model of SPBE Maturity

Nyoman Sutrisna Janureksa¹, I Made Candiasa², Komang Setemen³, Dewa Gede Hendra Divayana⁴, I Made Agus Oka Gunawan⁵

{janureksa@gmail.com¹, candiasa@undiksha.ac.id², k.setemen@undiksha.ac.id³}

Department of Computer Science, Universitas Pendidikan Ganesha^{1,2,3,4,5}

Abstract. The implementation of e-government at the Denpasar City Investment and One-Stop Integrated Services Agency (DPMPTSP Denpasar) has never been evaluated for its role in achieving the objectives of the organization's strategic plan. Consequently, a study on an evaluation of the maturity level of SPBE has been carried out using the SPBE maturity level model according to PermenPANRB Number 59 of 2020. This study combined quantitative and qualitative methods (Mixed-method). Three respondents were involved in the assessment of the maturity level of SPBE, namely the Head of Department, the Secretary of Department, and the Head Division of Investment Implementation Control and Investment Information determined from the results of the identification of officials whose main duties and functions are in accordance with the aspects of SPBE maturity to be assessed. At the process capability maturity level, the SPBE Policy Domain obtained an index value of 1.60, the SPBE Governance Domain obtained an index value of 2.40, and the SPBE Management Domain obtained an index value of 1.45. The SPBE index value of DPMPTSP Denpasar was 2.73, indicated as good and above the expected maturity level of the SPBE index value, which was 2.6. This study results in 11 recommendations for SPBE implementation.

Keywords: Evaluation, E-Government, SPBE

1 Introduction

Bureaucratic reform is the first step in the implementation of structuring the government administration system to serve the community quickly, accurately, transparently, accountable, and professionally [1]. The application of industry 4.0 is also required in the implementation of government [2], namely through the implementation of e-government. E-government is a step in improving the quality of public services with the application of information technology [3][4]. E-government requires good accessibility in providing services to users [5].

The implementation of e-government makes it easier for the government to interact with the public in an efficient, transparent, accountable, and timely manner [6][7] and minimizes the risk of corruption [8][9]. There are four classifications of e-government, including Government

to Citizens (G-to-C), Government to Business (G-to-B), Government to Government (G-to-G), and Government to Employees (G-to-G). E) [10]. Based on the 2020 E-Government Development Index (EGDI) Survey conducted by the United Nations, Indonesia is ranked 88 (eighty-eight), which is included in the EDGI Level High with a class H3 rating [11].

The e-government policy in Indonesia began with the issuance of the Presidential Instruction of the Republic of Indonesia Number 3 of 2003 concerning the National Policy and Strategy for the Development of E-Government [12]. This policy is the initial initiation of the implementation of the Electronic-Based Government System (SPBE) in Indonesia. Therefore, Presidential Regulation Number 95 of 2018 concerning the Electronic-Based Government System (SPBE) was then stipulated. There are several SPBE strategic initiatives, one of which is the implementation of the SPBE evaluation, which aims to determine the progress of SPBE implementation, provide suggestions for improvement to improve the quality of SPBE implementation, and ensure the quality of SPBE evaluation implementation [13] [14] [15].

In order to provide guidelines for monitoring and evaluating SPBE, the central government, through the Ministry of Empowerment of State Apparatus and Bureaucratic Reform, has issued a regulation (*PermenPANRB*) Number 59 of 2020, which takes effect in 2021 [16]. It is a revision of *PermenPANRB* Number 5 of 2018, which became a guideline in the previous SPBE evaluation. This revision was made because several mandates in Presidential Regulation 95 of 2018 have not been accommodated in *PermenPANRB* Number 5 of 2018. The SPBE evaluation was carried out to obtain an index value of the maturity level of e-government implementation [17]. One of the public service activities within the Denpasar City Government was carried out by the One-Stop Integrated Service and Investment Service (DPMPTSP), which since 2008 has implemented e-government in providing licensing services to the public. The e-government that has been implemented needs to be evaluated by measuring the maturity level of the SPBE.

In carrying out the evaluation, the appropriate e-government maturity model must be determined [18]. From several studies that have been carried out previously [19][20][21][22], research using the SPBE maturity level model according to *PermenPANRB* Number 59 of 2020 has never been conducted because this Ministerial Regulation that enacted from January 2021 is the national standard used in evaluating the maturity level of SPBE in all local governments in Indonesia. This study was conducted to determine the maturity level of SPBE at DPMPTSP Denpasar as a recommendation material in improving the quality of e-government implementation.

2 Method

In general, the stages of research were divided into four stages, namely the initial stage for observation and problem identification; planning stage for determining respondents, designing and distributing questionnaires; the analysis phase, which was validated by carrying out further discussions with the DPMPTSP Denpasar; and the final stage is the preparation of recommendations. This study combined quantitative and qualitative methods (Mixed-methods). The two methods can be combined but carried out alternately [23].

The instrument used in the maturity level assessment was a questionnaire for measuring the maturity level of SPBE according to *PermenPANRB* Number 59 of 2020. It was filled out based on interviews with the DPMPTSP Denpasar. The variables used were all process capabilities and SPBE service capabilities, using SPBE domain dimensions and indicators in the form of SPBE aspects and questions using SPBE indicators. Another instrument used was the

implementation report of the discussion results with the DPMPTSP Denpasar to deepen the results of the analysis.

The initial stage of the research aimed to carry out observations, identify problems directly to the research subjects, and get an initial picture of the conditions of e-government implementation at the DPMPTSP Denpasar. Respondents for the assessment of the SPBE maturity level were determined based on the identification of officials whose primary duties and functions are in accordance with the aspects of SPBE maturity to be assessed. There are 3 (three) respondents based on the initial identification, namely the Head of Department, Secretary of Department and Head Division of Investment Implementation Control, and Investment Information. The SPBE maturity level assessment questionnaire was prepared according to *PermenPANRB* Number 59 of 2020, and the filling was carried out based on interviews with predetermined respondents.

The analysis stage was the main stage in this research. At the analysis stage, an assessment and analysis of the maturity level and level of the SPBE gap were carried out. After obtaining the measurement values and the results of the descriptive analysis, further discussions were held with the DPMPTSP to validate the analysis results.

The SPBE evaluation was carried out by measuring the maturity level of SPBE implementation in accordance with *PermenPANRB* Number 59 of 2020 using the SPBE maturity level model, including the process capability maturity level [24] and the service capability maturity level [25]. The process capability maturity level was used to measure the maturity level of SPBE policies, governance, and management. The maturity level of service capability was used to measure the maturity level of electronic-based government administration services and electronic-based public services [16]. The assessment structure used in the assessment of the SPBE maturity level based on *PermenPANRB* Number 59 of 2020 consists of Domain (assessed SPBE application areas), Aspects (specific areas of SPBE implementation) according to Table 1 as follows [16].

Domain/Aspect/	SDDE Domain Indiastor Name
Indicator	SPBE Domain indicator Name
1. SPBE Domain I	Policy
Aspect 1 - SPBE C	Governance Internal Policy
Indicator 1	The maturity level of internal SPBE architecture policies for Central/Local
	Government Agencies
Indicator 2	The maturity level of internal policies SPBE plan map for Central/Local
	Government Agencies
Indicator 3	The maturity level of internal data management policy
Indicator 4	The maturity level of internal policies for SPBE application development
Indicator 5	The maturity level of Data Center service internal policy
Indicator 6	The maturity level of internal policy of network services within Central/Local
	Government Agencies
Indicator 7	The maturity level of internal policies on the use of services liaison systems for
	Central/Local Government Agencies
Indicator 8	The maturity level of information security management internal policies
Indicator 9	The maturity level of information and communication technology internal audit
	policy
Indicator 10	The maturity level of internal policy of SPBE coordination team for Central/Local

Table 1. The categorization of content validation instruments.

Domain/Aspect/ Indicator	SPBE Domain Indicator Name				
	Government Agencies				
2. SPBE Governan	ce Domain				
Aspect 2 - SPBE S	trategic Planning				
Indicator 11	The maturity level of SPBE Architecture for Central /Local Government Agencies				
Indicator 12	The maturity level of SPBE Plan Map for Central/Local Government Agencies				
Indicator 13	The maturity level of SPBE Plan and Budget Integration				
Indicator 14	The maturity level of SPBE Business Process Innovation				
Aspect 3 - Informa	tion and Communication Technology				
Indicator 15	The maturity level of SPBE Application Development				
Indicator 16	The maturity level of Data Center Services				
Indicator 17	The maturity level of network services within Central/Local Government Agencies				
Indicator 18	The maturity level of use of the service liaison system for Central/Local				
	Government Agencies				
Aspect 4 - SPBE O	brganizer				
Indicator 19	The maturity level of implementation of SPBE coordination team for Central/Local				
	Government Agencies				
Indicator 20	The maturity level of SPBE implementation collaboration				
3. SPBE Managem	ent Domain				
Aspect 5 - SPBE N	Ianagement Application				
Indicator 21	The maturity level of SPBE Risk Management				
Indicator 22	The maturity level of information Security Management Implementation				
Indicator 23	The maturity level of Data Management Implementation				
Indicator 24	The maturity level of ICT Asset Management Implementation				
Indicator 25	The maturity level of Human Resources Competency Implementation				
Indicator 26	The maturity level of Knowledge Management Application				
Indicator 27	The maturity level of Change Management Implementation				
Indicator 28	The maturity level of SPBE Service Management Implementation				
Aspect 6 - Implem	entation of ICT Audit				
Indicator 29	The maturity level of SPBE Infrastructure Audit Implementation				
Indicator 30	The maturity level of SPBE Application Audit Implementation				
Indicator 31	The maturity level of SPBE Security Audit Implementation				
4. SPBE Service D	omain				
Aspect 7 – Electron	nic-Based Government Administration Services				
Indicator 32	The maturity level of Planning Services				
Indicator 33	The maturity level of Budgeting Services				
Indicator 34	The maturity level of Financial Services				
Indicator 35	The maturity level of Goods and Services Procurement Services				
Indicator 36	The maturity level of Personnel Services				
Indicator 37	The maturity level of Dynamic Archive Service				
Indicator 38	The maturity level of State/Regional Property Management Services				
Indicator 39	The maturity level of Government Internal Oversight				
Indicator 40	The maturity level of Organizational Performance Accountability Services				
Indicator 41	The maturity level of Employee Performance Services				
Aspect 8 - Electron	nic Based Public Service				
Indicator 42	The maturity level of Public Service Complaint Service				
Indicator 43	The maturity level of Open Data Services.				
Indicator 44	The maturity level of Legal Documentation and Information Network (JDIH)				
Indicator 45	The maturity level of Public Service Sector 1				
Indicator 46	The maturity level of Public Service Sector 2				

Domain/Aspect/ Indicator	SPBE Domain Indicator Name
Indicator 47	The maturity level of Public Service Sector 3

The measurement of maturity level based on the above questionnaire was constructed based on the following values: Score 1 (one) for meeting the criteria at level 1 (one); Score 2 (two) for meeting the criteria at level 2 (two); Score 3 (three) for meeting the criteria at level 3 (three); Score 4 (four) for meeting the criteria at level 4 (four); and Score of 5 (five) for meeting the criteria at level 5 (five). The SPBE maturity level value calculation was in accordance with *PermenPANRB* Number 59 of 2020, which consists of the aspect index value, domain index, and SPBE index.

The value of the aspect index was calculated based on the sum of the multiplication calculations between the value of the maturity level of the indicator and the weight of the indicator, divided by the weight of the aspect. The domain index value was calculated based on the sum of the multiplication calculations between the aspect index value and the aspect weight, divided by the domain weight. The SPBE index value, which is an index value that represents the maturity level of the SPBE application as a whole, was calculated based on the sum of the multiplication between the domain index values and the domain weights. The weight of the SPBE maturity level assessment in each Domain, aspects, and indicators were listed in *PermenPANRB* Number 59 of 2020 [16]. After calculating the SPBE index, the results were grouped based on the predicate, as shown in Table 2.

Table 2. SPBE assessment predicate.

Index Value	Predicate
4,2 - 5,0	Satisfying
$3,5 \le 4,2$	Very Good
$2,6 \le 3,5$	Good
$1,8 \le 2,6$	Enough
< 1,8	Not Good

In the final stage, some recommendations were drawn that can be used as references for improving the implementation of e-government at the DPMPTSP Denpasar based on the validation of the results of the analysis that has been carried out previously.

3 Results and Discussion

The maturity level assessment and explanations for each assessment indicator were based on the information and supporting data from an interview with the predetermined respondents and direct observations at the research site. The SPBE maturity level value calculation was carried out in accordance with *PermenPANRB* Number 59 of 2020, consisting of the aspect index value, domain index, and SPBE index. The final result of the assessment was the SPBE index value, which represents the maturity level of the SPBE application as a whole so that the SPBE predicate category in the DPMPTSP Denpasar can be discovered. The results of the calculation of the aspect index value, which is the sum of the multiplication calculation between the value of the maturity level of the indicator and the weight of the indicator divided by the weight of the aspect, can be seen in Table 3.

Table 3. Aspect index value.

Aspect 1 - SPBE Governance Internal Policy 13.00 20.80 1,60 Indicator 1 2 1,30 1,30 1,30 1,30 Indicator 3 2 1,30 1,30 1,30 1,30 Indicator 4 3 1,30 1,30 1,30 1,30 Indicator 5 1 1,30 1,30 1,30 1,30 Indicator 6 2 1,30 1,30 1,30 1,30 Indicator 7 1 1,30 1,30 1,30 1,30 Indicator 9 1 1,30 1,30 1,30 1,30 Indicator 10 2 2,50 5,00 1	Aspect/Indicator	Maturity Level Assessment	Quality (%)	Value x Quality	Index Aspect
Indicator 1 2 1,30 2,60 Indicator 2 1 1,30 1,30 Indicator 3 2 1,30 2,60 Indicator 4 3 1,30 3,90 Indicator 5 1 1,30 1,30 Indicator 6 2 1,30 1,30 Indicator 7 1 1,30 1,30 Indicator 8 1 1,30 1,30 Indicator 9 1 1,30 1,30 Indicator 10 2 2,50 2,20 Indicator 11 2 2,50 2,00 Aspect 2 - SPBE Strategic Planning 10,00 27,50 2,75 Indicator 13 4 2,50 10,00 10,00 Indicator 15 3 2,50 7,50 1 Indicator 15 3 2,50 7,50 1 Indicator 16 2 2,50 5,00 1 Indicator 17 3 2,50 7,50 Indicator 18	Aspect 1 - SPBE C	Sovernance Internal Policy	13,00	20,80	1,60
$\begin{array}{l} \mbox{Indicator 2} & 1 & 1,30 & 1,30 \\ \mbox{Indicator 3} & 2 & 1,30 & 2,60 \\ \mbox{Indicator 4} & 3 & 1,30 & 1,30 \\ \mbox{Indicator 6} & 2 & 1,30 & 2,60 \\ \mbox{Indicator 6} & 2 & 1,30 & 1,30 \\ \mbox{Indicator 7} & 1 & 1,30 & 1,30 \\ \mbox{Indicator 9} & 1 & 1,30 & 1,30 \\ \mbox{Indicator 9} & 1 & 1,30 & 2,60 \\ \mbox{Aspect 2} \cdot SPBE Strategic Planning & 10,00 & 22,50 & 2,25 \\ \mbox{Indicator 10} & 2 & 2,50 & 5,00 \\ \mbox{Indicator 11} & 2 & 2,50 & 5,00 \\ \mbox{Indicator 12} & 1 & 2,55 & 2,50 \\ \mbox{Indicator 13} & 4 & 2,55 & 10,00 \\ \mbox{Indicator 13} & 4 & 2,55 & 5,00 \\ \mbox{Indicator 15} & 3 & 2,50 & 7,50 \\ \mbox{Indicator 16} & 2 & 2,50 & 5,00 \\ \mbox{Indicator 17} & 3 & 2,50 & 7,50 \\ \mbox{Indicator 17} & 3 & 2,50 & 7,50 \\ \mbox{Indicator 17} & 3 & 2,50 & 7,50 \\ \mbox{Indicator 18} & 3 & 2,50 & 7,50 \\ \mbox{Indicator 19} & 2 & 2,50 & 5,00 \\ \mbox{Indicator 19} & 2 & 2,50 & 5,00 \\ \mbox{Indicator 20} & 2 & 2,50 & 5,00 \\ \mbox{Indicator 21} & 2 & 1,50 & 3,00 \\ \mbox{Indicator 22} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 23} & 2 & 1,50 & 3,00 \\ \mbox{Indicator 24} & 2 & 1,50 & 3,00 \\ \mbox{Indicator 25} & 2 & 1,50 & 3,00 \\ \mbox{Indicator 26} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 27} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 28} & 2 & 1,50 & 3,00 \\ \mbox{Indicator 29} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 29} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 29} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 29} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 29} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 30} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 30} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 30} & 5 & 2,75 & 13,75 \\ \mbox{Indicator 34} & 5 & 2,75 & 13,75 \\ \mbox{Indicator 34} & 5 & 2,75 & 13,75 \\ \mbox{Indicator 34} & 5 & 2,75 & 13,75 \\ \mbox{Indicator 34} & 5 & 2,75 & 13,75 \\ \mbox{Indicator 34} & 5 & 2,75 & 13,75 \\ \mbox{Indicator 34} & 5 & 2,75 & 13,75 \\ \mbox{Indicator 34} & 5 & 2,75 & 13,75 \\ \mbox{Indicator 34} & 5 & 2,75 & 13,75 \\ \mbox{Indicator 34} & 5 & 2,75 & 13,75 \\ \mbox{Indicator 34} & 5 & 2,75 & 13,75 \\ \mbox{Indicator 34} & 5 & 2,75 & 13,75 \\ I$	Indicator 1	2	1,30	2,60	
$\begin{array}{l} \mbox{Indicator 3} & 2 & 1,30 & 2,60 \\ \mbox{Indicator 4} & 3 & 1,30 & 3,90 \\ \mbox{Indicator 5} & 1 & 1,30 & 1,30 \\ \mbox{Indicator 6} & 2 & 1,30 & 2,60 \\ \mbox{Indicator 7} & 1 & 1,30 & 1,30 \\ \mbox{Indicator 8} & 1 & 1,30 & 1,30 \\ \mbox{Indicator 9} & 1 & 1,30 & 1,30 \\ \mbox{Indicator 10} & 2 & 1,30 & 2,60 \\ \mbox{Aspect 2} & \mbox{SPE Strategic Planning} & 10,00 & 22,50 & 2,25 \\ \mbox{Indicator 11} & 2 & 2,50 & 5,00 \\ \mbox{Indicator 12} & 1 & 2,50 & 5,00 \\ \mbox{Indicator 13} & 4 & 2,50 & 10,00 \\ \mbox{Indicator 13} & 4 & 2,50 & 5,00 \\ \mbox{Indicator 13} & 4 & 2,50 & 5,00 \\ \mbox{Indicator 15} & 3 & 2,50 & 7,50 \\ \mbox{Indicator 15} & 3 & 2,50 & 7,50 \\ \mbox{Indicator 16} & 2 & 2,50 & 5,00 \\ \mbox{Indicator 16} & 2 & 2,50 & 5,00 \\ \mbox{Indicator 17} & 3 & 2,50 & 7,50 \\ \mbox{Indicator 18} & 3 & 2,50 & 7,50 \\ \mbox{Indicator 19} & 2 & 2,50 & 5,00 \\ \mbox{Indicator 19} & 2 & 2,50 & 5,00 \\ \mbox{Indicator 20} & 2 & 2,50 & 5,00 \\ \mbox{Indicator 21} & 2 & 1,50 & 3,00 \\ \mbox{Indicator 22} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 23} & 2 & 1,50 & 3,00 \\ \mbox{Indicator 24} & 2 & 1,50 & 3,00 \\ \mbox{Indicator 25} & 2 & 1,50 & 3,00 \\ \mbox{Indicator 26} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 27} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 28} & 2 & 1,50 & 3,00 \\ \mbox{Indicator 29} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 29} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 29} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 29} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 29} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 29} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 29} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 30} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 30} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 30} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 30} & 1 & 1,50 & 1,50 \\ \mbox{Indicator 34} & 5 & 2,75 & 13,75 \\ \mbox{Indicator 34} & 5 & 2,75 & 13,75 \\ \mbox{Indicator 35} & 3 & 2,75 & 8,25 \\ \mbox{Indicator 39} & 1 & 2,75 & 8,25 \\ \mbox{Indicator 39} & 1 & 2,75 & 8,25 \\ \mbox{Indicator 39} & 1 & 2,75 & 8,25 \\ \mbox{Indicator 39} & 1 & 2,75 & 8,25 \\ \mbox{Indicator 39} & 1 & 2,75 & 8,25 \\ Indi$	Indicator 2	1	1,30	1,30	
	Indicator 3	2	1,30	2,60	
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Indicator 4	3	1,30	3,90	
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Indicator 5	1	1,30	1,30	
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Indicator 6	2	1,30	2,60	
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Indicator 7	1	1,30	1,30	
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Indicator 8	1	1,30	1,30	
$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Indicator 9	1	1,30	1,30	
$\begin{tabular}{ c c c c c c c c c c c c c c c c c c c$	Indicator 10	2	1,30	2,60	
$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Aspect 2 - SPBE S	trategic Planning	10,00	22,50	2,25
$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Indicator 11	2	2,50	5.00	
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Indicator 12	1	2,50	2,50	
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Indicator 13	4	2,50	10,00	
Aspect 3 - Information and Communication10,00 $27,50$ $2,75$ Indicator 153 $2,50$ $7,50$ Indicator 162 $2,50$ $5,00$ Indicator 173 $2,50$ $7,50$ Indicator 183 $2,50$ $7,50$ Aspect 4 - SPBE Organizer $5,00$ $10,00$ $2,00$ Indicator 192 $2,50$ $5,00$ Indicator 202 $2,50$ $5,00$ Aspect 5 - SPBE Management Application $12,00$ $19,50$ $1,63$ Indicator 212 $1,50$ $3,00$ Indicator 232 $1,50$ $3,00$ Indicator 242 $1,50$ $3,00$ Indicator 252 $1,50$ $3,00$ Indicator 271 $1,50$ $1,50$ Indicator 282 $1,50$ $3,00$ Indicator 291 $1,50$ $1,50$ Indicator 301 $1,50$ $1,50$ Indicator 311 $1,50$ $1,50$ Indicator 325 $2,75$ $13,75$ Indicator 335 $2,75$ $13,75$ Indicator 345 $2,75$ $13,75$ Indicator 355 $2,75$ $13,75$ Indicator 363 $2,75$ $8,25$ Indicator 363 $2,75$ $8,25$ Indicator 373 $2,75$ $8,25$ Indicator 383 $2,75$ $8,25$	Indicator 14	2	2,50	5,00	
Technology Intervention Intervention Indicator 15 3 2,50 7,50 Indicator 16 2 2,50 5,00 Indicator 17 3 2,50 7,50 Indicator 18 3 2,50 5,00 Indicator 19 2 2,50 5,00 Indicator 20 2 2,50 5,00 Indicator 21 2 1,50 3,00 Indicator 21 2 1,50 3,00 Indicator 23 2 1,50 3,00 Indicator 24 2 1,50 3,00 Indicator 25 2 1,50 3,00 Indicator 26 1 1,50 1,50 Indicator 27 1 1,50 1,50 Indicator 28 2 1,50 3,00 Indicator 29 1 1,50 1,50 Indicator 30 1 1,50 1,50 Indicator 29 1 1,50 1,50 Indicator 31 1 1,50 1,50 Indicator 32 5	Aspect 3 - Informa	tion and Communication	10,00	27,50	2,75
$\begin{array}{c c c c c c c c c c c c c c c c c c c $	Technology		- ,		y · -
Indicator 16 2 2,50 5,00 Indicator 17 3 2,50 7,50 Indicator 18 3 2,50 7,50 Aspect 4 - SPBE Organizer 5,00 10,00 2,00 Indicator 19 2 2,50 5,00 Indicator 20 2 2,50 5,00 Aspect 5 - SPBE Management Application 12,00 19,50 1,63 Indicator 21 2 1,50 3,00 Indicator 23 2 1,50 3,00 Indicator 24 2 1,50 3,00 Indicator 25 2 1,50 3,00 Indicator 26 1 1,50 1,50 Indicator 27 1 1,50 1,50 Indicator 28 2 1,50 3,00 Indicator 30 1 1,50 1,50 Indicator 30 1 1,50 1,50 Indicator 30 1 1,50 1,50 Indicator 31 1 1,50 1,50 Indicator 32 5 2,75 13,75	Indicator 15	3	2.50	7.50	
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	Indicator 16	2	2.50	5.00	
Indicator 18 3 2,50 7,50 Aspect 4 - SPBE Organizer 5,00 10,00 2,00 Indicator 19 2 2,50 5,00 Indicator 20 2 2,50 5,00 Aspect 5 - SPBE Management Application 12,00 19,50 1,63 Indicator 21 2 1,50 3,00 Indicator 23 2 1,50 3,00 Indicator 24 2 1,50 3,00 Indicator 25 2 1,50 3,00 Indicator 26 1 1,50 1,50 Indicator 27 1 1,50 1,50 Indicator 28 2 1,50 3,00 Aspect 6 - Implementation of ICT Audit 4,50 4,50 1,00 Indicator 29 1 1,50 1,50 1,50 Indicator 31 1 1,50 1,50 1,50 Indicator 32 5 2,75 13,75 1,50 Indicator 33 5 2,75 13,75	Indicator 17	3	2.50	7.50	
Aspect 4 - SPBE Organizer $5,00$ $10,00$ $2,00$ Indicator 192 $2,50$ $5,00$ Indicator 202 $2,50$ $5,00$ Aspect 5 - SPBE Management Application $12,00$ $19,50$ $1,63$ Indicator 212 $1,50$ $3,00$ Indicator 221 $1,50$ $3,00$ Indicator 232 $1,50$ $3,00$ Indicator 242 $1,50$ $3,00$ Indicator 252 $1,50$ $3,00$ Indicator 261 $1,50$ $1,50$ Indicator 271 $1,50$ $1,50$ Indicator 291 $1,50$ $1,50$ Indicator 291 $1,50$ $1,50$ Indicator 301 $1,50$ $1,50$ Indicator 311 $1,50$ $1,50$ Indicator 325 $2,75$ $13,75$ Indicator 335 $2,75$ $13,75$ Indicator 345 $2,75$ $13,75$ Indicator 363 $2,75$ $8,25$ Indicator 373 $2,75$ $8,25$ Indicator 383 $2,75$ $8,25$	Indicator 18	3	2.50	7.50	
Indicator 19 2 2,50 5,00 Indicator 20 2 2,50 5,00 Aspect 5 - SPBE Management Application 12,00 19,50 1,63 Indicator 21 2 1,50 3,00 Indicator 22 1 1,50 1,63 Indicator 23 2 1,50 3,00 Indicator 24 2 1,50 3,00 Indicator 25 2 1,50 3,00 Indicator 26 1 1,50 1,50 Indicator 27 1 1,50 1,50 Indicator 28 2 1,50 3,00 Indicator 29 1 1,50 1,50 Indicator 30 1 1,50 1,50 Indicator 31 1 1,50 1,50 Indicator 32 5 2,75 13,75 Indicator 34 5 2,75 13,75 Indicator 35 5 2,75 13,75 Indicator 36 3 2,75 8,25 Indicator 37 3 2,75 8,25 Indi	Aspect 4 - SPBE C	Drganizer	5.00	10.00	2.00
Indicator 20 2 2,50 5,00 Aspect 5 - SPBE Management Application 12,00 19,50 1,63 Indicator 21 2 1,50 3,00 Indicator 22 1 1,50 1,50 Indicator 23 2 1,50 3,00 Indicator 24 2 1,50 3,00 Indicator 25 2 1,50 3,00 Indicator 26 1 1,50 1,50 Indicator 27 1 1,50 1,50 Indicator 28 2 1,50 3,00 Indicator 29 1 1,50 1,50 Indicator 30 1 1,50 1,50 Indicator 31 1 1,50 1,50 Indicator 32 5 2,75 13,75 Indicator 33 5 2,75 13,75 Indicator 34 5 2,75 13,75 Indicator 35 5 2,75 13,75 Indicator 36 3 2,75 8,25 Indicator 37 3 2,75 8,25 Ind	Indicator 19	2	2.50	5.00	_,
Aspect 5 - SPBE Management Application 12.00 19.50 1,63 Indicator 21 2 1,50 3,00 Indicator 22 1 1,50 3,00 Indicator 23 2 1,50 3,00 Indicator 24 2 1,50 3,00 Indicator 25 2 1,50 3,00 Indicator 26 1 1,50 1,50 Indicator 27 1 1,50 1,50 Indicator 28 2 1,50 3,00 Indicator 29 1 1,50 1,50 Indicator 30 1 1,50 1,50 Indicator 31 1 1,50 1,50 Indicator 32 5 2,75 13,75 Indicator 33 5 2,75 13,75 Indicator 34 5 2,75 13,75 Indicator 35 5 2,75 13,75 Indicator 36 3 2,75 8,25 Indicator 37 3 2,75 8,25 Indicator 38 3 2,75 8,25 Ind	Indicator 20	$\frac{1}{2}$	2.50	5.00	
Indicator 2121,503,00Indicator 2211,503,00Indicator 2321,503,00Indicator 2421,503,00Indicator 2521,503,00Indicator 2611,501,50Indicator 2711,501,50Indicator 2821,503,00Aspect 6 - Implementation of ICT Audit4,504,501,00Indicator 3011,501,50Indicator 3111,501,50Indicator 3252,7513,75Indicator 3352,7513,75Indicator 3452,7513,75Indicator 3632,758,25Indicator 3732,758,25Indicator 3832,758,25Indicator 3912,752,75	Aspect 5 - SPBE N	Ianagement Application	12.00	19.50	1.63
Indicator 2211,501,50Indicator 2321,503,00Indicator 2421,503,00Indicator 2521,503,00Indicator 2611,501,50Indicator 2711,501,50Indicator 2821,503,00Aspect 6 - Implementation of ICT Audit4,504,501,00Indicator 2911,501,50Indicator 3011,501,50Indicator 3111,501,50Indicator 3252,7513,75Indicator 3352,7513,75Indicator 3452,7513,75Indicator 3632,758,25Indicator 3732,758,25Indicator 3832,758,25Indicator 3912,752,75	Indicator 21	2	1.50	3.00	,
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	Indicator 22	1	1.50	1.50	
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	Indicator 23	2	1.50	3.00	
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	Indicator 24	2	1.50	3.00	
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	Indicator 25	2	1.50	3.00	
Indicator 2711,501,50Indicator 2821,503,00Aspect 6 - Implementation of ICT Audit4,504,501,00Indicator 2911,501,50Indicator 3011,501,50Indicator 3111,501,50Aspect 7 - Electronic-Based Government27,5099,003,60Administration Services13,753,60Indicator 3252,7513,75Indicator 3452,7513,75Indicator 3632,758,25Indicator 3732,758,25Indicator 3832,758,25Indicator 3912,752,75	Indicator 26	1	1.50	1.50	
$\begin{tabular}{ c c c c c c c c c c c c c c c c c c c$	Indicator 27	1	1.50	1.50	
$\begin{tabular}{ c c c c c c c c c c c c c c c c c c c$	Indicator 28	2	1.50	3.00	
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	Aspect 6 - Implem	entation of ICT Audit	4.50	4.50	1.00
Indicator 30 1 1,50 1,60 Indicator 30 1 1,50 1,50 Indicator 31 1 1,50 1,50 Aspect 7 - Electronic-Based Government 27,50 99,00 3,60 Administration Services	Indicator 29	1	1.50	1.50	-,
Indicator 30 1 1,50 1,50 Indicator 31 1 1,50 1,50 Aspect 7 - Electronic-Based Government 27,50 99,00 3,60 Administration Services 2,75 13,75 Indicator 32 5 2,75 13,75 Indicator 33 5 2,75 13,75 Indicator 34 5 2,75 13,75 Indicator 35 5 2,75 13,75 Indicator 36 3 2,75 8,25 Indicator 37 3 2,75 8,25 Indicator 38 3 2,75 8,25 Indicator 39 1 2,75 2,75	Indicator 30	1	1,50	1.50	
Aspect 7 - Electronic-Based Government 27,50 99,00 3,60 Administration Services Indicator 32 5 2,75 13,75 Indicator 32 5 2,75 13,75 Indicator 33 5 2,75 13,75 Indicator 34 5 2,75 13,75 Indicator 35 5 2,75 13,75 Indicator 36 3 2,75 8,25 Indicator 37 3 2,75 8,25 Indicator 38 3 2,75 8,25 Indicator 39 1 2,75 2,75	Indicator 31	1	1.50	1.50	
Administration Services 2,75 13,75 Indicator 32 5 2,75 13,75 Indicator 33 5 2,75 13,75 Indicator 34 5 2,75 13,75 Indicator 35 5 2,75 13,75 Indicator 36 3 2,75 8,25 Indicator 37 3 2,75 8,25 Indicator 38 3 2,75 8,25 Indicator 39 1 2,75 2,75	Aspect 7 - Electron	nic-Based Government	27.50	99.00	3.60
Indicator 32 5 2,75 13,75 Indicator 33 5 2,75 13,75 Indicator 34 5 2,75 13,75 Indicator 35 5 2,75 13,75 Indicator 36 3 2,75 13,75 Indicator 36 3 2,75 8,25 Indicator 37 3 2,75 8,25 Indicator 38 3 2,75 8,25 Indicator 39 1 2,75 2,75	Administration Ser	rvices		,	- ,~~
Indicator 33 5 2,75 13,75 Indicator 34 5 2,75 13,75 Indicator 35 5 2,75 13,75 Indicator 36 3 2,75 8,25 Indicator 37 3 2,75 8,25 Indicator 38 3 2,75 8,25 Indicator 39 1 2,75 2,75	Indicator 32	5	2.75	13.75	
Indicator 34 5 2,75 13,75 Indicator 35 5 2,75 13,75 Indicator 36 3 2,75 8,25 Indicator 37 3 2,75 8,25 Indicator 38 3 2,75 8,25 Indicator 39 1 2,75 2,75	Indicator 33	5	2.75	13.75	
Indicator 35 5 2,75 13,75 Indicator 36 3 2,75 8,25 Indicator 37 3 2,75 8,25 Indicator 38 3 2,75 8,25 Indicator 39 1 2,75 2,75	Indicator 34	5	2.75	13.75	
Indicator 36 3 2,75 8,25 Indicator 37 3 2,75 8,25 Indicator 38 3 2,75 8,25 Indicator 39 1 2,75 2,75	Indicator 35	5	2.75	13.75	
Indicator 37 3 2,75 8,25 Indicator 38 3 2,75 8,25 Indicator 39 1 2,75 2,75	Indicator 36	3	2.75	8.25	
Indicator 38 3 2,75 8,25 Indicator 39 1 2,75 2,75	Indicator 37	3	2.75	8.25	
Indicator 39 1 2,75 2,75	Indicator 38	3	2.75	8.25	
	Indicator 39	1	2.75	2.75	
Indicator 40 3 2.75 8.25	Indicator 40	3	2.75	8.25	

Aspect/Indicator	Maturity Level Assessment	Quality (%)	Value x Quality	Index Aspect
Indicator 41	3	2,75	8,25	
Aspect 8 - Electron	ic-Based Public Service	18,00	69,00	3,83
Indicator 42	4	3,00	12,00	
Indicator 43	3	3,00	9,00	
Indicator 44	3	3,00	9,00	
Indicator 45	5	3,00	15,00	
Indicator 46	4	3,00	12,00	
Indicator 47	4	3.00	12.00	

Based on the above calculation results, the maturity level was divided into the process capability maturity and the service capability maturity levels. Of the 8 (eight) aspects and 47 (forty-seven) indicators for assessing the maturity level of SPBE, the assessment of the maturity level of process capability maturity level assessment was used in aspect of 31 (thirty-one) indicators. The service capability maturity level assessment was used in aspect seven and aspect 8, consisting of 16 (sixteen) indicators. After obtaining the aspect index value, the domain index value was calculated. The results of the domain index value calculation, which is the sum of the multiplication calculation between the aspect index value and the aspect weight divided by the domain weight, can be seen in Table 4.

1		D .		
value.	index	Domain	4.	Table
vuit	mach	Domain		1 abic

Domain/Aspect	Aspect Index Value	Quality (%)	Value x Quality	Index Domain
1. SPBE Policy Domain		13,00	20,80	1,60
Aspect 1	1,60	13,00	20,80	
2. SPBE Governance Domain		25,00	60,00	2,40
Aspect 2	2,25	10,00	22,50	
Aspect 3	2,75	10,00	27,50	
Aspect 4	2,00	5,00	10,00	
3. SPBE Management Domain	n	16,50	24,00	1,45
Aspect 5	1,63	12,00	19,50	
Aspect 6	1,00	4,50	4,50	
4. SPBE Service Domain		45,50	168,00	3,69
Aspect 7	3,60	27,50	99,00	
Aspect 8	3,83	18,00	69,00	

The SPBE index value is the maturity level of the overall SPBE application, which was calculated based on the sum of the multiplication between the domain index values and the domain weights. The results of the SPBE index value calculation can be seen in Table 5 below.

Table 5. SPBE index value.

Domain	Domain Index Value	Quality (%)	Value x Quality	
1. SPBE Policy Domain	1,60	13,00	20,80	
2. SPBE Governance Domain	2,40	25,00	60,00	
3. SPBE Management Domain	1,45	16,50	24,00	
4. SPBE Service Domain	3,69	45,50	168,00	
Total (Value x Quality) 272,80				
SPBE Index Value = $1/100 *$ Total (Value x Quality) 2,73				

The SPBE index value of DPMPTSP Denpasar, according to Table 5, is 2.73, which indicates that the overall maturity level of SPBE application in DPMPTSP Denpasar has a good predicate

(score $2.6 \le 3.5$). The level of the gap was assessed based on the gap between the achievement of the SPBE maturity level value obtained by the DPMPTSP Denpasar and the expected SPBE maturity level value. The expected SPBE maturity level is the minimum value for the SPBE maturity level in the good category, which is 2.6. Thus, the DPMPTSP Denpasar SPBE index value of 2.73 is still above the target.

Process capability contains 12 (twelve) indicators (2, 5, 7, 8, 9, 12, 22, 26, 27, 29, 30, and 31) with a maturity level of 1 (one) included in the pilot criteria; 14 (fourteen) indicators (1, 3, 6, 10, 11, 14, 16, 19, 20, 21, 23, 24, 25, and 28) with a maturity level of 2 (two) included in the managed criteria; 4 (four) indicators (4, 15, 17, and 18) with a maturity value of 3 (three) included in the defined criteria; and 1 (one) indicator (13) with a maturity level of 4 (four) included in the integrated and measurable criteria.

Service capability has 1 (one) indicator (39) with a maturity level of 1 (one) included in the information criteria; 7 (seven) indicators (36, 37, 38, 40, 41, 43, and 44) with a maturity value of 3 (three) included in the transaction criteria; 3 (three) indicators (42, 46, and 47) with a maturity level of 4 (four) are included in the collaboration criteria; and 5 (five) indicators (32, 33, 34, 35, and 45) with a maturity level of 5 (five) included in the optimum criteria.

Based on the assessment of the gap level of the SPBE aspect index value against the expected aspect index value, 3 (three) aspects of achievement index values were above the target (aspects 3.7 and 8) and 5 (five) aspects of achievement index values were below the target (aspects 1,2,4,5 and 6). The achievements in each aspect still indicate low maturity level value (maturity level value < 3).

In process capability, 1 (one) aspect index value was above the target (aspect 3), and 5 (five) aspects of achievement index value were below the target (aspect 1,2,4,5, and 6). In aspect 3, with a gap value of 0.15 (above the target), there was 1 (one) indicator with a maturity level value < 3, namely indicator 16 (maturity level 2). The value of the gap in aspect 2 was below the target (-0.35), and there are 3 (three) indicators with a maturity level value < 3, namely indicators 11 and 14 (maturity level 2) and indicator 12 (maturity level 1).

The value of the gap in aspect 4 was below the target (-0.60), and all indicators in that aspect had a maturity level value of 2. In aspect 5, with a gap value of -0.98 (below the target), all indicators score maturity level < 3, namely indicators 22, 26, and 27 (maturity level 1) and indicators 21,23,24,25, and 28 (maturity level 2). The value of the gap in aspect 1 was below the target (-0.1), and there were 9 (nine) indicators with a maturity level value < 3, namely indicators 2,5,7,8 and 9 (maturity level 1) and indicators 1, 3, 6, and 10 (maturity level 2). Aspect 6 obtained the highest gap value (-1.60), and the achievement of all indicators obtained a maturity level of 1.

All aspects of service capability obtained a gap value above the target, namely Aspect 7 with a gap value of 1.00 and Aspect 8 with a gap value of 1.23. Of the 16 (sixteen) indicators on service capability, only 1 (one) indicator in aspect 7 had a maturity level value of < 3, namely indicator 39, which has a maturity level of 1.

After obtaining the analysis results from the evaluation stage, discussions and further data collection were carried out with the DPMPTSP Denpasar through Focus Group Discussion (FGD) activities. FGD activities aim to get clear feedback and look for alternative solutions [26]. It was done to strengthen the research analysis results in the previous stage and material in the preparation of recommendations.

From the analysis results and the initial recommendations conveyed by the researchers, then a question-and-answer session from the DPMPTSP Denpasar and conclusions were drawn and recorded in the minutes of the meeting.

Recommendations for the implementation of the SPBE were based on the achievements in each aspect of the SPBE with indicators that obtained a low maturity level value (maturity level value < 3).

In order to prepare internal policies for the SPBE plan map, internal policies for data center services, policies for the use of service liaison systems, information security management policies, and information and communication technology audit policies as the basis for the governance process were made. This recommendation refers to indicators 2, 5, 7, 8, and 9.

It is necessary to improve the internal policies of the SPBE architecture, which includes all references to the architecture and domains of the SPBE architecture, as well as to improve the internal policies of data management, the internal policies of intra-network services, and the internal policies of the SPBE coordination team which include the integration of the implementation of the governance process. This recommendation refers to indicators 1, 3, 6, and 10.

The process of formulating internal policies for SPBE governance must be coordinated with the Denpasar City Information and Statistics Communications and Statistics Office regarding SPBE policy guidelines.

In order to prepare SPBE Architectural Documents, it is necessary to include complete SPBE references and domains and preparation of SPBE Plan Maps based on the SPBE Plan Map of Denpasar City Government. This recommendation refers to indicators 11, 12, and 14.

In order to develop standard operating procedures for data center services, it is necessary to evaluate so that data center services can be integrated with Denpasar City Government data center services. This recommendation refers to indicator 16.

It is necessary to complete the tasks/work programs of the SPBE Coordination Team, which regulates the overall management of SPBE at the DPMPTSP Denpasar, as well as collaboration with other Regional Apparatuses in implementing the SPBE, which is formally formed so that there is a clear division of tasks and responsibilities for the implementation of collaboration. This recommendation refers to indicators 19 and 20.

It is necessary to implement security management activities, apply knowledge management, modify management, and carry out their evaluations in accordance with the guidelines that form the basis for their management implementation. This recommendation refers to indicators 22, 26, and 27.

In order to improve the guidelines for SPBE risk management activities, data management, and ICT asset management to encourage the integration of the implementation of each activity, it is necessary to prepare operational service guidelines. This recommendation refers to indicators 21, 23, 24, and 28.

It is necessary to provide or increase the competence of human resources to be able to fulfill competencies in the field of SPBE business processes, SPBE architecture, data and information, SPBE security, SPBE applications, and SPBE infrastructure. This recommendation refers to indicator 25.

In order to carry out an ICT audit, which includes an SPBE infrastructure audit, an SPBE application audit, and an SPBE security audit should be based on national or international standards and follow-up improvements to the implementation process. Several frameworks for auditing can be used, such as The Open Group Architecture Framework (TOGAF), Control Objective for Information and related Technology (COBIT), and ISO/IEC 27001. This recommendation refers to indicators 29, 30, and 31.

It is necessary to develop and integrate internal monitoring services in coordination with the Information and Statistics Communications Office and the Denpasar City Inspectorate to use the Whistle Blowing System (WBS) service feature related to internal complaints. This recommendation refers to indicator 39.

4 Conclusion

At the process capability maturity level, the SPBE Policy Domain obtained an index value of 1.60, the SPBE Governance Domain obtained an index value of 2.40, and the SPBE Management Domain obtained an index value of 1.45. Meanwhile, at the service capability maturity level, the SPBE Service Domain obtained an index value of 3.69. From the SPBE domain index value, the SPBE DPMPTSP index value of Denpasar City was 2.73 and obtained a good predicate.

The expected SPBE maturity level is the minimum value for the SPBE maturity level in the good category, which is 2.6, where the SPBE index obtained was still above the target. Based on the assessment of the gap level of the SPBE aspect index value against the expected aspect index value, 3 (three) aspects of achievement index values were above the target (aspects 3, 7, and 8), and 5 (five) aspects of achievement index values were below the target (aspects 1, 2, 4, 5 and 6).

The resulting recommendations consist of 11 (eleven) recommendations, arranged based on the achievements in each aspect of the SPBE with indicators that obtain a low maturity level value (maturity level value < 3). It is hoped that the evaluation results can be used as a reference in improving the implementation of e-government DPMPTSP Denpasar and supporting the implementation of evaluations on other Regional Apparatuses within the Denpasar City Government or for further related research.

Based on the recommendations for implementing the SPBE compared to several previous studies related to the SPBE evaluation [20][21], which used several SPBE variables based on mapping the organization's business processes, the researchers carried out an evaluation using all SPBE variables to obtain a comprehensive analysis of the SPBE maturity level. The SPBE maturity level model, according to *PermenPANRB* Number 59 of 2020, is a national standard used by the government in the implementation of SPBE evaluations so that in the process, it rationally meets the elements of scientific theoretical evaluation in the IT field. Further research is expected to explore the implementation of ICT audits such as SPBE infrastructure audits, SPBE application audits, or SPBE security audits using other frameworks.

Acknowledgments. The researchers would like to express their gratitude to the Head of DPMPTSP Denpasar and the staff who supported this study.

References

[1] Peraturan Presiden Republik Indonesia Nomor 81 Tahun 2010 Tentang Grand Design Reformasi Birokrasi 2010-2025. Jakarta: Sekretariat Kabinet Republik Indonesia; 2010.

[2] Farida I, Setiawan R, Maryatmi A S, Juwita M N. The Implementation of E-Government in the Industrial Revolution Era 4.0 in Indonesia. *Int J Progress Sci Technol*. 2020;22(2):340-346.

[3] Effendi PM, Susanto TD. Test of Citizens' Physical and Cognitive on Indonesian E-Government Website Design. *Procedia Computer Sci.* 2019; 161:333-340. doi:10.1016/j.procs.2019.11.131

[4] Khalid SA, Lavilles RQ. Maturity Assessment of Local E-government Websites in the Philippines. *Procedia Comput Sci.* 2019; 161:99-106. doi:10.1016/j.procs.2019.11.104

[5] Darmaputra I G B N E, Wijaya S S, Ayu M A. Evaluating the Accessibility of Provinces' E-Government Websites in Indonesia. 2017 5th Int Conf Cyber IT Serv Manag. 2017:1-6. doi:10.1109/CITSM.2017.8089322

[6] Rizana A F, Muhammad F, Hediyanto U Y K., Andrawina L. The Maturity Assessment of e-Government in Bandung District Area. 2019 IEEE 6th Int Conf Ind Eng Appl. 2019:323-327. doi:10.1109/IEA.2019.8715230

[7] Pérez-morote R, Pontones-rosa C, Núñez-Chicharro M. The effects of e-government evaluation, trust and the digital divide in the levels of e-government use in European countries. *Technol Forecast Soc Chang.* 2020; 154:119973. doi:10.1016/j.techfore.2020.119973

[8] Khan A, Krishnan S, Dhir A. Electronic government and corruption: Systematic literature review, framework, and agenda for future research. *Technol Forecast Soc Chang.* 2021; 167:120737. doi:10.1016/j.techfore.2021.120737

[9] Khan A, Krishnan S. Conceptualizing the impact of corruption in national institutions and national stakeholder service systems on e-government maturity. *Int J Inf Manage*. 2019; 46:23-36. doi:10.1016/j.ijinfomgt.2018.11.014

[10] Indrajit R E. Electronic Government: Strategi Pembangunan Dan Pengembangan Sistem Pelayanan Publik Berbasis Teknologi Digital. Yogyakarta: Penerbit ANDI; 2002.

[11] Nations U. E-Government Survey 2020. New York: United Nations; 2020.

[12] Instruksi Presiden Republik Indonesia Nomor 3 Tahun 2003 Tentang Kebijakan Dan Strategi Nasional Pengembangan E-Government. Jakarta: Sekretariat Kabinet Republik Indonesia; 2003.

[13] Peraturan Presiden Republik Indonesia Nomor 95 Tahun 2018 Tentang Sistem Pemerintahan Berbasis Elektronik. Jakarta: Kementerian Sekretariat Negara Republik Indonesia; 2018.

 [14] Herdiyanti A, Hapsari P S, Susanto T D. Modelling the Smart Governance Performance to Support Smart City Program in Indonesia. *Procedia Comput Sci.* 2019; 161:367-377. doi:10.1016/j.procs.2019.11.135

[15] Saputra M R Y, Winarno W W, Henderi, Shaddiq S. Evaluation of Maturity Level of the Electronic based Government System in the Department of Industry and Commerce of Banjar Regency. *J Robot Control*. 2020; 1(5):156-161. doi:10.18196/jrc.1532

[16] Peraturan Menteri Pendayagunaan Aparatur Negara Dan Reformasi Birokrasi Republik Indonesia Nomor 59 Tahun 2020 Tentang Pemantauan Dan Evaluasi Sistem Pemerintahan Berbasis Elektronik. Jakarta: Kementerian Pendayagunaan Aparatur Negara dan Reformasi Birokrasi Republik Indonesia; 2020.

[17] Prihantoro E, Mukodim D, Ohorella N R. Policy Analysis for the Implementation of Electronic-Based Government Systems (SPBE) in the City Government of Depok in Realizing an Open, Participative, Innovative and Accountable City Government. *Tech Soc Sci J.* 2021; 19:221-234.

[18] Oré S B, Lozada V M. Maturity Model for Local E-Government: A Case Study. In: *In Proceedings of the 8th International Conference on Computer Modeling and Simulation (ICCMS '17)*. New York, NY, USA: Association for Computing Machinery; 2017:78-83. doi:10.1145/3036331.3050419

[19] Suwardika I G I, Dantes G R, Indrawan G. Tingkat Kematangan E-Government RSUD Wangaya Menggunakan SPBE 2018. *J Teknol Inf dan Komput*. 2018;6(3):372-381.

[20] Pratiwi H D, Hayuhardhika W, Putra N, Herlambang A D. Evaluasi Penerapan E-Government Di Pemerintah Kabupaten Sumbawa Besar Menggunakan Kerangka Kerja Sistem Pemerintahan Berbasis Elektronik (SPBE). *J Pengemb Teknol Inf dan Ilmu Komput*. 2020;4(11):4116-4124.

[21] Sukarsa I M, Bagus I, Paramartha A, Agung A, Agung K, Wibawa K S. Evaluation of E-Government Maturity Models in Sub-District Public Services in Indonesia Using the SPBE Framework. *RESTI J (System Eng Inf Technol.* 2020;4(2):243-253.

[22] Dipa P, Pratiwi P, Agung G, Putri A, Made G, Sasmita A. Evaluasi SPBE pada Dinas Kesehatan Salah Satu Kabupaten di Bali. *JITTER- J Ilm Teknol dan Komput*. 2020;1(2).

[23] Sugiyono P D. Metode Penelitian Kuantittif, Kualitatif Dan Kombinasi (Mixed Methods). Bandung: ALFABETA; 2017.

[24] Kawashita I M S, Baptista A A, Soares D. E-government maturity models: more of the same? 2020 Seventh Int Conf eDemocracy eGovernment. 2020:58-66. doi:10.1109/ICEDEG48599.2020.9096697

[25] Joshi P R, Islam S. E-Government Maturity Model for Sustainable E-Government Services from the Perspective of Developing Countries. 2018. doi:10.3390/su10061882

[26] Ariwiati, Ristekawati S F, Febriliantina R, Zakiah. The Study of e-Government Implementation in Improving the Quality of Public Services (A Study on Society in Bandung Region). 2016 Int Conf ICT Smart Soc. 2016:20-21.